6 5 4 3 | 2 | 1

Rev | AWO# Description Date Appr
APPROVED: - RELEASED 510123
DATE: TITLE: A ADDED PAGE?2 6/8/23 | WX/RC

| CG=M—=MX—X CG—M—-MX-2
4444 M) _ (See Page2) Unit: mm
Screw -
w Cable Screw Thread Lengthl Joint Length
It
A ) ( 1 A ADAM P/N @0 | ronge [Thread 0.D (6L) (H) REF
CG—M-M6—1 M6x1 | 4-2 6 5 11
CG—M-M8—1 M8x1 | 5.5-2 8 5 16
1 _ _ | ] | AG CG—M—-M10—1 | M10x1 | 6.5-3 10 7 19
CG—M-M12—1.5 [M12x1.5] 6.5-3 12 7 19
CG—M—-M14—15 [M14x1.5] 8-4 14 7 19
C6-M-M16—1.5 [M16x1.5| 8—4 16 8 20
) ( k CG-M-M18—1.5 [M18x1.5] 10-5 18 8 21
b L b b V V CO—M—M20—1.5 |M20x1.5| 12-6 20 8 22
. CG-M—-M22-1.5 |M22x1.5] 14—10 22 8 23
‘ CG—M—M24—1.5 |M24x1.5] 14-10 24 9 25
CG—M—M25A—1.5 | M25x1.5| 14-10 25 9 25
H (REF) oL CG—M-M25C—1.5|M25x1.5| 1813 25 9 27
CG—M-M27-1.5 |M27x1.5| 18-13 27 9 27
Sealing element Nut CG-M-M28—1.5 |M28x1.5] 18-13 28 9 27
CG—M-M30—1.5 |M30x1.5| 18-13 30 9 29
CG—M-M32—1.5 |M32x1.5| 22—-15 32 10 29
CG-M-M33—1.5 [M33x1.5] 22-15 33 10 29
27 CG-M-M36—1.5 |M36x1.5] 25-18 36 10 31
? CG-M-M37—1.5 |M37x1.5] 25-18 37 10 31
CG—M—M40A—1.5 |M40x1.5| 25-18 40 11 31
CG—M—M40C—1.5 | M40x1.5| 30—22 40 11 35
CG-M—-M42—1.5 |M42x1.5] 30-22 42 11 35
- - - - - - CG-M-M47—-1.5 [M47x1.5] 33-25 47 11 37
CG—M-M48—1.5 |M48x1.5| 33-25 48 11 37
CG—M-M50—1.5 |M50x1.5| 38-32 50 12 37
CG—M-M54-1.5 |M54x1.5| 38-32 54 12 38
: CG—M—-M60—-1.5 |M60x1.5| 44-37 60 13 38
AR
NP7 7 CO—M-M63—15 |M63x1.5 44-37 | 63 13 38
/ / . X1
///I/I//A///A CG—M—M64—1.5 [M64x1.5] 4437 64 13 38
Pressing cap CG—-M—-M72-1.5 [M72x1.5] 52—-42 72 15 42
Clarnping piece CG-M-M75-1.5 |M74x1.5| 5545 75 15 42
CG-M-M80-1.5 |M80x1.5| 62-50 80 18 46
SPECIFICATIONS: CG—M-M88—1.5 |M88x1.5| 70—60 88 18 46
Material: i CG—M—M100-1.5 [M100x1.5| 80—70 100 20 50
Body: Brass, Nickel Plated
Contacts: Brass
Clomping piece: PA ) UNLESS OTHERWISE SPECIFIED ALL DIMENSIONS 909 Rahway Avenue,
Pressing cap: Brass, Nickel Plated ARE INCHES [MM]. TOLERANCES: EXCEPT AS NOTED ADAM_— Union. NJ 07083
Nut: Brass, Nickel Plated XINCI-:IEESM 2 HOLEfm — .
Sealing element: NBR X Eom0  Hx Eous —_TECH Phone: 908-687-5000
O—Ring: NBR XXX *.015  @Xxx  £.010 — Fax: 908-687-5710
Mechanical: TITLE
. - .. DRAWN LH 5/10/23
Applicable cable specifications for wiring: ¢6.5—83 mm /1% METRIC THREAD WATERPROOF CONNECTOR
Temperature Rating: CHECKED RC 5/10/23 !
40°C to +100C —— IP68, 1 HOLE, CABLE GLAND
Environmental: il CG M MX X N
. THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY =[\/|= -
Waterproof: 1P68 ) RoHS AND SHOULD NOT BE USED WITHOUT PRIOR WRITTEN X
Lead free, RoHS compliant [COMPLIANT PERMISSION FROM ADAM TEGH REF: - | scae: NTS [ SHEET 1 OF 2

6 | 5 4 3 2 | 1




6 4 3 | 2 | 1
Rev | AWO# | Description | Date | Appr
APPROVED: SEE SHT 1 OF 2 FOR REVISION
DATE: TITLE:
CO-M—MX~2
Unit: mm
Screw :
Cable Screw |Thread Length| Joint Length
It
ADAM P/N ) range |Thread 0.D (GL) (H) REF
CC-M-M27-2 M27x2 | 18-13 27 9 27
CC-M-M28-2 M28x2 | 18-13 28 9 27
CG-M-M30—2 | M30x2 | 18-13 30 9 29
CC-M-M32-2 M32x2 | 22—-15 32 10 29
CC—M-M33-2 M33x2 | 22—15 33 10 29
CC-M-M36-2 M36x2 | 25-18 36 10 31
CC—M-M37-2 M37x2 | 25-18 37 10 31
CG—M—-M40B—-2 | M40x2 | 25-18 40 11 31
CG—M—M40D-2 | M40x2 | 30-22 40 "1 35
CC-M-M42-2 M42x2 | 30-22 42 11 35
CC-M-M47-2 M47x2 | 33-25 47 11 37
CC-M-M48-2 M48x2 | 33-25 48 11 37
CG-M-M50-2 M50x2 | 38-32 50 12 37
CG-M-M54—2 | M54x2 | 38-32 54 12 38
CG-M—-M60-2 | M60x2 | 44-37 60 13 38
CG—M-M63-2 M63x2 | 44-37 63 13 38
CG—M—-M64-2 M64x2 | 44-37 64 13 38
CGC—M-M72-2 M72x2 | 52—-42 72 15 42
CG—M-M75-2 M75x2 | 52—42 75 15 42
CG—M-MB0-2 M80x2 | 62—55 80 18 46
CG—M—-MB8-2 M88x2 | 70—65 88 18 46
CG—M—-MS0A-2 | M90x2 | 65—70 90
CG-M—-M90B-2 | M90x2 | 78—84 90
CG—M-M100-2 | M100x2| 84-78 100 20 50
UNLESS OTHERWISE SPECIFIED ALL DIMENSIONS 909 Rahway Avenue,
ARE INCHES [MM]. TOLERANCES: EXCEPT AS NOTED AD AM_— Union. NJ 07083
INCHES HOLES — '
X £.10 BX +.10 N : -687-
X, fao gx Ei —TECH Pror cosesr500
XXX £ 015 @XXX  £.010 —_— Fax: 908-687-5710
DRAWN LH 5/10/23 | TILE
——1— ———  METRIC THREAD WATERPROOF CONNECTOR,
IP68, 1 HOLE, CABLE GLAND
R SIZE |PART NO REV.
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY =\/|= -
AND SHOULD NOT BE USED WITHOUT PRIOR WRITTEN X CG M MX X A
PERMISSION FROM ADAM TECH REF: ISCALEZ NTS I SHEET 2 OF 2
6 4 3 2 1




	MMCX6252F1-GTG-50.pdf
	圖頁1

	EVE0C-32S7-03U28_A0.pdf
	EVE0C-32S7-03U28 Model (1)
	EVE0C-32S7-03U28 Model (2)
	EVE0C-32S7-03U28 Model (3)




